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Optional lowpass for RF rejection.
The resistors also function as input protection.
Choose C_D >= 10 C_C
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to get a signal of a few V here.
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If the control board has no supply,
or the OPA_ES signal is low,
this output should be 0V.
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LED starts to shine at ~1.8V monitor output.
It gets brighter for increasing monitotr signal and
reaches it's maximum current at 15V.
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The QAI FPGA outputs
3.3 V with maximal 4 mA

threshold current
~ 0.65 mA

Logic signal (CMOS or TTL) to
deactivate the current.
high TTL -> current disabled
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LED shines when OPA_ES is high,
i.e. when the current is not disabled
and the thermal shutdown is not triggered.
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If you don't want to used the negative feedback loop,
you could leave the AD8429 and ADA4522 anpopulated
and connect these two pads to use the OPA549 as voltage follower.
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Sensing resistor for negative feedback
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GND of this board and the OPA_board
need to be the same potential!
However, they can also be connected externally.
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